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General Instructions :
(i)  There are five Section : A, B, C, D and E in this question paper.

(i) Section-A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions, One. Word answer, Fill in the blank; True/False and
question numbers 19 and 20 are Assertion-Reasoning based questions.

(iii) Section-B consists of Very Short Answer Type Questions of 2 marks each
from 21 to 25. ;

(iv) Section-C consists of Short Answer Type Questions of 3 marks eaéh
from 26 to 31.

(v) Section-D consists of Long Answer Type Questions of S5 marks each
from 32 to 35. :

(vi) Question Number 36 to 38 in' Se.ctio'r.t-E are case study base{i questions of
4 marks each Internal Choice is given in each case study question of 2 marks
each. :

(vii). All questions are compulsory. However provision of‘intemaz choice has
been made in 2 questions of Segtion-B, 2 questions of Section.c,' fio
2 questions of Section-D, and 3 questions of Section-E, :
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SECTION - A
l,mmﬁﬁéwaﬁﬁmﬁﬁamm_m%? 1
a) 16 ’ B) V36
Jer V48 (D) 64
which of the following numbers is an irrational number ?
@ 16 B) 36
c) 48 (D) V64
2. B d ¥ DN BET @ waTE @ eaa TR o 1
A’A’/{/ SSS (B) SSA
(C) SAS (D) ASA
Which of the following is not a criterion for congruence of triangles ?
(A) SSS | (B) SSA
(C) SAS (D) ASA
3. Pl g B H GEE HOT A € \ Jil 1
(A) 30° (B) 45°
(C) 60° (D) 90°

Each angle of any cquilateral triangle is :
(A) 30° (B) 45°

MW’ (D) 90°

4. @wﬁagﬂmﬁmswm 1.5 T ¥ B A ded oen @ ded T @
gl 1
(A) 3.6cm (B) 4.1 cm

| (C) 3.8cm . (D) 3.4 cm

: 2503 | v
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250
. 4 : Ui
'Bvo sides of a triangle arc of lcngth(s 5) cm and 1.5 cm. The length of the th;,
side of the triangle cannot be :
(A) 3.6cm (B) 4.1cm
(C) 3.8cm 6) 8.4 B

5. R @ TqiT & Rl g @) weR A, @ 76 @ @ ge o ¢
(G /3re) -

If diagonal of a quadrilateral bisect each other, then quadrilateral is
parallelogram. /(True /False

6. UF IU (I Faw gui) H w9 A S W GHH PIOT G0 L
angles at the

Equal chords of a circle (or of congruent circles) subtend equal
i (;l‘rue/False]

(G /3160) |

centre. : _
7. % FE Bre 1 @ eI SRR, dl 98 e € 1
(A) T BT (B) farg Fryst
(C) wHiEag B (D) EHRIT B
S If two sides of a triangle are equal, then it is called :
(A) Equilateral triangle (B) Scalene triangle
Mosceles triangle (D) Right angled triangle
8. 9% % g F G O ¢ : 1
‘ 2
(A) nr2h (B) Enr3 & |
(6/4 4 (D) =ar’h TR oy
) 3™ 3 Yol
, Volume of the cone is : b ‘ .
(A) nr’h (B) Enra l SR
’ D) Lnrth '
(C) —Zmr 3‘ . b
2 2503 ' &0y
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‘
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' (5)
; £ 100-120 T T fre &
@ 100 By 110
€ 120 (D) &7 & B 7
The class mark of the class 100-120 is :
(A) 100 (B) 110
€) 120 (D) None of these
TR B Y e ©
(A) T B) 1
(@] 2 (D) 3
The smallest prime number is : |
(A) Zero (B) 1
© 2 D) 3
11. SRERA <A ¢
F Faa \ 0-5 | 510 | 10-20 | 20-25 | 25-30
ST \ 6 12 10 8

& oag B g & W

ot 20-25 F TR TRARCA ©

(A) 6 (B) 12

© 2 (D) T § =g |
To draw a histogram to represent the following frequency distributioﬁ‘ :
\Elass Interval | 0-5 | 5-10 | 10-20 | 20-25 | 25-30

\ Frequency 6 12 10 8 15

The adjusted frequency for class 20-25 is :

(A) 6 (B) 12

€ 2 Af. None of these
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12, %3 +3x24 2% x2 g7 o1 ? :

(A) 1 By 3

() 2 (D) i A A T
The cocfficient of x?in x3 + 3x? + 2

(A) 1 (B) 3

€) 2 (D) None of these

13. x=1W g x2- x+ 1 F A & BT :

P B) 2
€ 3 (D) O
Find the value of polynomial x2-x+latx=1:
(A) 1 B) 2

(C) 3 (D). O .

14. T F TEGH o B R R

(&) 4nR? (B) 4nR®
1o 2R D) 2zR?
3 3

Volume of sphere whose radiusis R: -

oY 4

(A) 4zR? | (B) 4nR3
C) —=nRr? 2 53
< 3= | (D) =R
15. g5 ABC # AB = AC 3R 4B = 70°, 79 £C =R ¥ :
(A) 40° (B) 50°
(C) 60° (D) 70°
In AABC, AB = AC and 4B = 70°, then £C is :
(A) 40° 4 (B) 50°
(C) 60° 1Bf 70°
2503 g &
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IGa@a%H‘ﬁmﬁ%ﬁﬂﬁmzﬁq% (7)

(A) 180° (B) 240°

4ef 360° (D) 300°

gum of the interior angles of quadrilateral is :

(A) 180° (B) 240°
(C) 360° (D) 300°
17. T TR TGSt & el SR, @A G T e, B
(A) TGS B) ST
© (D) T & P T
In diagonal of a parallelogram afe equél, thenitisa ...ccecueueene. :
AX Rhombus BT Rectangle
~(C) ~ Square (D) None of these
18. T & gu@e A & B .o B &l

Angles in the same segment of a circle are ............... A

19, W(A):aﬁ J2=1.414, J3=1.732,T 5 =2 +4/3.
T (R) : GF GO B T A AR B B |
(&) (A) AT (R) @ &g & ol (R), (A) @ 8 e FHEO
(B) (A) R (R) A @& € &M (R), (A) & & e T8 ¥
(C) (A) G B afF (R) o6 &I

(D) (A) @@ & AT (R) w%n
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Assertion (A): If V2 =1.414, 3 =1.732, then V5 = J2+43.

Reason (R) : Square root of positive number always exists.

(A)  Both (A) and (R) arc true, (R) is the correct explanation of (A)-

(B) Both (A) and (R) are true but (R) is not correct explanation of (A)-
(C) (A)is truc but (R) is false.

(D) (A) is falsc but (R) is true.

20.W(A):mgﬁaﬁvﬁmvﬁwaﬁﬁmﬁmﬁiﬂﬁ%,ﬂﬂﬂmﬁg'
T (R) : Rl 97 9 @ A S g7 e A 7
(A) (A) R (R) 3 9 € &R (R), (A) # T& =ET B
(B) (A) 3R (R) 21 & & A (R), (A) P T& = & &
(C) (A) 99 t of (R) o189 &I |
(D) (A) & § W (R) ¥4 &1

Assertion (A) : A chord of a circle, which is twice as long as its radius, is &
diameter of the circle. ' '

Reason (R) : The longest chord of-a pircle is a diameter-of the circle.

| (A) Both (A) and (R) are true and (R) is the correct éxplanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false. '
(D) (A) is falsc but (R) is true.

guEe-9
SECTION - B

21_1@12%%@%#@1%%! | Y .. g o

Find five rational numbers between 1 and 2. : - \T“
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i 3 (S J3)(3- ¢
- gimplify ¢ (3+v3)(3-+3)
IYqr
OR
1
@ P © (32)°
: 1
simplify + (32)°
23. 3 H l?lﬁ‘?ﬁl?“?’\'f’T Fifoma . . | 2

24.

25.

26.

‘ Facf%fize'; 2x2+7x+ 3

2503

\/72

Rationalise the denominator of 1 j
V7 -2

103 x 107 = A9 S IS ol 2

Evaluate 103 x 107. (ﬁ&f3>( /pmfﬁ &000 2/ 1‘7&&7& ‘Zyg

k % FH & B AR x— 1, P # TEETS ¥ Py = 2x? + k2 | 2
Find the value of k, if x - 1 is a factor of P{x), P(x) =.2x? + kx+ /2.

i ‘.

OR

TGS g3y & x% - 5x + 6 H JAAET BT PC 1 ) :o;"._
Use the factor theorem factorize of x?-56x+6, 2 N )2 ~)~ X x} ..}\J\
quE -7 2FRX )4+ )0 -5
SECTION - C K—-2 35"

WW 2x?+ 7x+3 /(. "(’Z.—Ff)

P. TO‘ |
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27. ©F Fdietg FR D B 3 AN Y st weh A P ol 7

.
olume ©
A hemispherical bowl has a 1ad1us of 3 cm. What WOUld e tkaeév

it would contain. ~ nE: L S ),22 J/&/

o

OR

TH O W G IS %A § T, uﬁaﬁmmmﬁmeﬁ
24 X B

Find the total surface area of a cone, if its slant height is 21
its base is 24 m.

m\?

gg%amrr(?ﬂ

m and diamet

28. TTHEE FHioT . g
64x3 - 343y° o R
Factorize : '
L gRux
64x3-343y° . Q& £

20, THHE 2x+ y =7 B 4 B &0 s BN ’
Find three different solutions of the equation 2x + 7

i TG L g sz+g

| % Sy ‘el

30. k & 91 T FHi, zri%x 2,y=1 I 2x+3y=kHE aq &

Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y=k

31., @S Fig : 8x? +y® + 272° - 18xyz.
\Factorize : ' 8x? + y? +27z° - 18xyz.
, | 4 OR |
'WWWWWQ%)SWWWWI

' Using suitable identity, find the value of (999)°.
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SECTION - D

32. IR & W PO &R RS weR g 0 W syt awd ¥ 2R LPOR : LROO=5:7 %
D T P 59 D 3 5

In fig. PQ and RS line are intérsect at point O. If ZPOR : ZROQ =5: 7,' then find
the all angles.

33. ai%qzs caﬁﬁeﬁAaﬂTB%aﬂasﬁwﬁ%m%%Ac Bc%a‘fﬁ@ﬁ%ﬂz
AC——EAB ICERCRIERELEIEY : : 5

If a point C lies between two points A and B such that AC = BC, then prove that

AC= %AB Explain by drawing the figure.

e

OR ~ : 19“ ;
R § @i xy AR My, owqﬁz@aaﬂ‘rﬁ%mﬁzmy 90°aﬁ"<a D o 3%?&
c & AF 3| HifeT

P ;

2003 T, biih: 7 A 0 P o:
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In fig. lines XY and MN intersect at O. If ZPOY = 9

- 34. @ﬁ'ﬂamquﬁﬁqmgm&mﬁ,%meﬁmﬁ%l

Find the area of triangle whose sides are 40 m, 24 m and 32 m.

Ygqr
OR

wa‘agﬁas@mmmaﬁmmﬂﬁmﬁﬁaﬁﬁ%7ﬁ% :

Find the volume of a right circular cone whoée radius 6 cm and height is 7 cm.

- 35. T9iEu P UF GHEQES @ T WER @ A 8
Show that diagonal of a rhombus perpendic_:ulét_r_to each other.

. @S -F

SECTION - E
36. mﬁmﬁﬂﬁ«rﬁaﬁnﬁ%wﬂmm
(i) .B % fadsia

‘(i) e (-3, -5) @rT TEE . R
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(b) SN & TGS BD H1 X-318t & A T ARY SAT P G ST AR 2
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See the fig. and answer the followmg questions
(i) The co-ordinate of B.
(i1) The point identified by the co- ord1nate (-3, =5).
(i11) (a) Find the abscissa of point D and ordlnate of pomt H:-
OR
(b) Find the area of rectangle formed by the 11ne segment BD and X-axis
in fig. Y
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37. R 3 Ru wRw @ fErhy grs @ et J
Wﬂsoooe@nﬁffﬂzqﬁm%_;\

%22%?, 22 et R 120 Hex ¥ R @
|

SR T R & T TR B omer g Py me & T A

el (
/////455222557

(i) SER N IRAY FE ST

(i) &= & g e

(i) (a) f%rgamﬂmasréto ST Tl
o |
(b) aﬁmﬁﬁwsoaﬁlﬂamaﬁﬁ@ﬂmaﬁsqﬁ%mmwﬁ
S & 8 fea fReran 341 8 7 A . &

The triangular side walls of the flyover have been used for advertising. The sides

of the walls are 122 m, 22 m and 120 m. Earning of Rs. 5000 per m? per year

from advertisements is.

On the basis of the above information and given figure, answer the followirs

guestions :

(i) Perimeter of wall is ’26‘4 o

. v' § g;
o 2s03,
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(i) Write down the Heron's formula, -) s(,s' a) /5-'[7) (S c) v
(ili) (a) Area of triangular wall is \3 (3—0 M(L

OR 0 A¥iy

Lol 1 R e

(b) If company hired one of its wal

Is with area .1680 m? for 3 month, then
how much rent did it pay ?

38-*@TIX%@@‘T&@@%408@%@%@%%&&&1@@&1@?%
m%mm&mmwmwm i

I T % oo # 3 ok i w3 g v

A

[ )N
i

Renfiat 2t wer -
=N W N~ u

L N

T 1

2

G S T T R PR o g 7 1
(i) mq@%ﬁ\mmmﬁﬁmmw? Y : | 1 j
(i) (a) oF wER & A R 4 fenfeE oo gon ? | y
L)
(b) 7 @ o & dre Ya g BRl A G W W A ;
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In a Particular section of IX Class, 40 students were asked about the rrcllo'nths; of
their birth and the following graph was prepared for the data so obtained :

Observe the bar graph given below and answer the following questions :

AN

au O
] L L L
L4 Ll

N W
L L
T

Number of students —»
5

i

Dec RN

Month of birth

() How many students were born in the month of Novemeber ?
(ii) In which month were the maximum number of students born ?
(iii) (a) Name the month in which 4 students were born.
| OR
(b) Find the total number of students born from Méy to August.




